5

NOTES:

1. REFER TO SAFE DIRECTION DRAWING SD-RB-15001 FOR ASSEMBLY OF G4 W-BEAM WITH ROCKETBLOC.

150

110

POST PLAN

2000 POST CENTRES, TYP.

REVISIONS

REV.|ZONE | DESCRIPTION

DATE

| APPVD

A ]

[Initial Issue

| 08/04/2024 |

HW

PLAN VIEW

o
It
+
4 s
=
@
(@]
P4
<
o
®
ol
S
-
s
=

SIDE ELEVATION

':\fg‘ Part Number Description
1 SD-RB-15001 G4 W-Beam with RocketBloc, 2m Ctrs - - -
2 | GR-MP-BR-0586-AG |Biker-Shield Mounting Bracket o 1 1 " Road Barriers
Bl FINISF SafeDirection| c4w-Beam with RocketBloc, 2m Ctrs,
3 GR-MP-SR-4000-AG |Biker-Shield Beam, 4m NLL CRASH BARRIER SOLUTIONS Wlth Blker-ShIe|d
4 | GRMP-FSO000-AG |Plate Washer STATUS|  NAME DATE |G LA s s g ot oo | General Amangement ________
5 | GR-FS-16-0050-MZ |M16x50 Mushroom Head Post Bolt, Class 4.6 DRAWN |W. Refahi B/04 /2024 |Fun Suorea'es ien aholly or om port sitoct wrion purmssion SD-RB-15007 '
6 GR-FS-16-0000-HG |M16 Hex Nut cHrD |T. Colguhoun | 870472024 |Ude Alt%%?ﬁ%%}é Zn}gyf . EZ/ORJLZ'E‘#I%E A A4
7 GR-FS-16-0032-MG  |M16x32 Mushroom Head Splice Bolt & Oversize Nut, Class 8.8 APPVD|H. Wallace 8/04/2024 |STATUS: APPROVED WEIGHT: ‘Don%ﬂrwf,ggLﬂs[ALE; 1:25 | SHEET 1 of 3
ahi\Documents\SDSY!

FRONT ELEVATION

1

| 2 |

C:\Users\wesam.re’

% \SD\Assembly\SD-RB Road Barr\e's\SD—RB—WSOOD G4 W-Beam with Ro[)%'ﬁln(\SL—RB—WSON - G4 W-Beam with RocketBloc, 2m Ctrs, with Biker-Shield\  Monday, 8 April 2024 12:53:25 P!



NOTES:

1. REFER TO SAFE DIRECTION DRAWING SD-RB-15001 FOR ASSEMBLY OF G4 W-BEAM WITH ROCKETBLOC.

'ﬁ’g_“ Part Number Description
1 SD-RB-15001 G4 W-Beam with RocketBloc, 2m Ctrs
2 | GR-MP-BR-0586-AG |Biker-Shield Mounting Bracket
3 GR-MP-SR-4000-AG |Biker-Shield Beam, 4m NLL
4 | GR-MP-FS-0000-AG |Plate Washer
5 GR-FS-16-0050-MZ |M16x50 Mushroom Head Post Bolt, Class 4.6
6 | GR-FS-16-0000-HG |M16 Hex Nut
7 GR-FS-16-0032-MG  |M16x32 Mushroom Head Splice Bolt & Oversize Nut, Class 8.8
FATERIAL: j . TITLE: Road Barriers
FINISF F SafeDirection| c4w-Beam with RocketBloc, 2m Ctrs,
CRASH BARRIER SOLUTIONS W|th B|ker_Sh|e|d
STATUS|  NAME DATE | e e e cations and the Capyrgnt Theren o General Arrangement
ISOMETRIC EXPLODED VIEW DRAWN|W. Refahi B/04/2026 | e Boperties oF Sale Dreclion Pl Li ond muel ol be ueed,  |OWGNO SD-RB-15007 REVISION: | SHEET size
cHkD |T. Colquhoun | 8/04/2024 |UNo Joamawces. <ion | HRa ANE b A A4
4pPvolH. Wallace | 8/04/2024 [STATUS: APPROVED WEIGHT: (90 0T A I SCALE: 1:20 [ SHEET 2 of 3

C:\Users\wesam.re’

ahi\Documents\SDSY!

% \SD\Assembly\SD-RB Road Barr\e's\SD—RB—WSDOD G4 W-Beam with Ro[)%'ﬁln(\SL—RB—WSON - G4 W-Beam with RocketBloc, 2m Ctrs, with Biker-Shield\  Monday, 8 April 2024 12:53:25 P!




DETAIL A
REAR VIEW

NOTES:

1. REFER TO SAFE DIRECTION DRAWING SD-RB-15001 FOR ASSEMBLY OF G4 W-BEAM WITH ROCKETBLOC.

MATERIAL:

% SafeDirection

TITLE: .
Road Barriers

G4 W-Beam with RocketBloc, 2m Cirs,

C:\Users\wesam.re’

ahi\Documents\SDSY!

FINISH:
ISOMETRIC VIEW CRASH BARRIER SOLUTIONS with Biker-Shield
COPYRIGHT Al right d ABN: 53 156 459 684
STATUS| NAME DATE These drawings, rp‘lansS arﬁzesr;:(lfi(ariuns and the copyright therein are General Arrangement
- the properties of Safe Direction Pty Ltd, and must not be used, DWG NO REVISION: [SHEET SIZE
DRAWN |W. Refahi 8/04/2024 |reproduced or copied wholly or in part without written permission SD RB 1 5007 A A4
, IN.O: : THIRD ANGLE - -
cHk'D |T. Colquhoun | 8/04/2024 |UN% IHiaNes & rr e om PROJECTION
4pPvolH. Wallace | 8/04/2024 [STATUS: APPROVED WEIGHT: (90 0T WS SCALE: 115 | SHEET 3 of 3

% \SD\Assembly\SD-RB Road Barr\e's\SD—RB—WSOOD G4 W-Beam with Ro[)%'ﬁln(\SL—RB—WSON - G4 W-Beam with RocketBloc, 2m Ctrs, with Biker-Shield\  Monday, 8 April 2024 12:53:25 P!



	Sheet1
	FRONT ELEVATION
	PLAN VIEW
	SIDE ELEVATION
	Drawing View1

	Sheet2
	Drawing View8

	Sheet3
	ISOMETRIC VIEW
	Drawing View9


